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Functional Skills Level 2
MATHEMATICS

Paper 2 Calculator

Time allowed: 1 hour 30 minutes

Materials
For this paper you must have: _— | For Exantines’s Use
« a calculator aman -
« mathematical instruments. ol Question Mark
" 1-6

Instructions -
+ Use black ink or black ball-point pen. Draw diagrams in pencil. 7
s Answer all questions. — B- Fr—
+ You must answer the questions in the spaces provided. Do not write outside L L

the box around each page or on blank pages. 9
« If you need extra space for your answer(s), use the lined pages at the end of T" —

this book. Write the question number against your answer(s).

* Do all rough work in this book. Cross through any work you do not want to be TOTAL
marked.

* State the units of your answer where appropriate.

Information

* The marks for questions are shown in brackets.
» The maximum mark for this paper is 60.

* You may ask for more answer paper, graph paper and tracing paper.
These must be tagged securely to this answer book.

If your calculator does not have a 7t button, take the value of 7t to be 3.142

Advice
In all calculations, show clearly how you work out your answer.

Ty 836212
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Recommendations

Based on your results from this initial
assessment, we estimate you are
currently at Level 1.5,

From this diagnostic, we think one of
the following courses would be

suitable:
Functional Skills English Initial Assessment

L Functional Skills
Maths Level 2

=35 @105
Start initial AssessmEnt

Functional Skills Maths Initial Assessment b3

Pick my own

Start initial Assessment

v’ Explainer videos on every topic

v'  Quick-fire style mutiple choice
questions

v' Test your knowledge with
exam-style questions

v Written solutions for all
questions

Course Completion %

Previous Results for Addition and Subtraction (including

16 TOPICS

Using Numbers

Start Learning

FUNCTIONAL SKILLS
ONLINE COURSES

v Your answers are analysed to
determine your Current Level

v Suggested courses for you to enrol
on based on your calculated level

v’ Always know the level you are
currently working at

v Determine when you are ready to
sit your exam

27.08% Complete

Or visit

See your progress through as you
progress through each topic area

Get your average scores for practice
questions, topic tests and mock exams

View all practice question, topic test
and mock exam attempts over time

View historical attempts to analyse
your progress over time
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Section A

Answer all questions in the spaces provided.

1 The probability of an event happening is —2

.

Circle the probability of the event not happening.

Pass Functional Skills

Do not write
oulside the
box

[1 mark]
1 : 0
5
2 x=5 and y=-32
Work out the value of x + 12
[2 marks]
Se (3 .49)% = 15.89 i
Answer !5 -Q—C{“

AN
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3
Do not write
[ oulside the
box
3 A
: North
; [
4
3
A
2 X
1
5 4 3 2 10 1 2 3 4 5 «x
-1
_2_
i X -3
—4-
| ot ot B i
A is the point (1, 2)
B is the point
3 squares West of A
and
5 squares South of A.
Work out the coordinates of B.
[2 marks]
Answer ( — Q_ 5 _.% )

LI

Turn over p

IB/H/INov21/8362/2
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4 In the boxes, write the number that is

3 more than -8

4 |less than -2

halfway between -7 and 5

Pass Functional Skills

Do not write
outside the
box

[3 marks]

S Write the ratio 144 : 90  in its simplest form.

|6 - 10

[2 marks]

i .5

Answer % o S—

p
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PassFunctionalSkills.co.uk Pass Functional Skills

5
- i Do not write
outside the
6 Here is an isosceles triangle. box
Not drawn
x> accurately
420  ) [ :
Work out the size of angle x.
[2 marks]
Answer b 12
Turn over for Section B
Turn over »

T
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7 (a)

L

6
Do ngrwn're
Section B gt
Answer all questions in the spaces provided.
Energy
Jim's house has gas central heating.
The charges for the gas Jim uses are shown in the table.
Cost per unit of gas (kWh) 2.92p
Standing charge per day 39.6p
In November, Jim uses 1976 kWh of gas.
Use approximations to estimate Jim’s November gas payment.
Give your answer in pounds.

[5 marks]
|9F6 x 292~
appLECIMatey =3 20C0 X 3 = 6000
| .___Pﬁr__.__.d_cgi _approx. G40 x 30 d oo

L
i _Total = 6000 + 1200
] = 1200¢
)
Answer £ F2L
IB/H/Nov21/8362/2
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7
Do not write
outside the
(b) Jim's current gas company produces 43% of their gas from green sources. box
He sees this pie chart for another gas company, MixGas. .
Gas source
,/ I.""\.I\
/, Green \
- |
198°/ !
Non-green
Jim wants to use the company with a greater proportion of gas from green sources.
Should Jim change to MixGas?
You must show your working.
[3 marks]
o ) b]
360 - 19% ° = 1632°
popomep 162 - o045 x 100 = 457/.
rak 260
45/. 7 437/
Jes Jim shoutd change o MocGas
Question 7 continues on the next page
Turn over >
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8
Do not write
outside th
7 (c) Jim is thinking of buying solar panels. ”‘iﬂi' )
The price of these panels has decreased by 27% since 2016
Jim would need to pay £4803.40 for the panels now.
How much would the panels have cost in 20167
[3 marks]
™~y 1 -
|00 - 27 = #3
4%03.40 - 33 x 100 = £580
Answer £ 65%0 11

L

1B/H/Nov21/8362/2
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9
Do not write
oulside the
8 Dog box
Ben has a dog called Pluto.
8 (a) Ben takes Pluto for a walk.
They walk 4 laps of a sports track.
The sports track is the shape of two semi-circles joined by two straight sections.
l\ -
N Not drawn
\ accurately
30m
A
) 120m
Ben has a target to walk 5000 m each day.
What percentage of his daily target has Ben completed on this walk?
[5 marks]
\ i
aea_of o bemispnere = z0d
- _' . - "
R o — 2 T (30) ~B 4712
2 remisphefes so 47 1\2x 2= 94,25
Totar = 949 .25 + |20 t+ (20 =334.2
q laps = 334 .2 x d=")33F
U= 133%F T 5000 X 100
Answer 2 F %
Question 8 continues on the next page
Turn over »
| II ||||0"||I9||" ’ll‘ IB/HINov21/8362/2
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8 (b) Pluto needs to eat 420 grams of food each day, in the ratio

wet food : dry food = 2 : 5
Ben buys a 12 kilogram bag of dry food.

How many days of dry food does the bag provide?
[4 marks]

Q-Q-C)")fclﬂ’\S 2.:8
420 = t = (/Cj

ek = 6O X ) = 1203

{,L'rﬂ = bOX U= By

| 2 K\(j 5 ]Q.QCQ_S_}____._ ST

2 12000 *300 -+ 40 d.o%g__ o

Answer L}»O days

M

IB/H/Nov21/8362/2
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8

(c) In his garden, Ben has a rectangular fenced area for Pluto.

The fenced area measures 2.4 m by 2.26m

Ben builds a kennel for Pluto which covers % of the fenced area.

Here is a sketch of the kennel.

The base of the kennel is a rectangle.

Work out the length of the kennel.

Penced anon
248w x 2 23 m =

P

O.9m* =0.F2Zm X \enlgm_
len.cj‘rh = 0-9
: O.%92
= 1.280M
Answer )_ . Q.(j

Turn over for the next question

MW
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[4 marks]

Turn over >

IB/HMNov21/8362/12

box




PassFunctionalSkills.co.uk

12

9 Fundraising

A charity organises an annual sponsored swim.

9 (a) Ahmed swam 50 lengths of a pool that is 25 metres long.
The swim took him 38 minutes.

Ahmed says,

“My average speed was more than 0.7 metres per second.”

Is Ahmed correct?

You must show your working.

[4 marks]
o0 lengms x 290N = L2950 m
3% mins = 2230 seconds
———SPeed 10 _metces persecend = 12950 ]
22.%¢
)

0 s -0 s

n

IB/H/Nov21/8362/2
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Do not write
outside th
9 (b) Ahmed collected £35 for his swim and gave it to the charity. |

box

g of this money was donated by taxpayers.

Using Gift Aid, the charily claimed an extra 25p for every £1 donated by a taxpayer.

How much money did the charity receive, including Gift Aid, from Ahmed's swim?

[3 marks]
: . _ _
E 30 ba tQoCPARS
25p exxya. per £l
Ez30 x 0.e25 - 7.5
cocal = E3g 4 '_E-‘{E: = a9 B0
Answer £ 42 .50
Question 9 continues on the next page
Turn over p

L
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Do ﬂ(:: wiite
outside the
9 (c) This year, 20 people completed the sponsored swim. box
The table shows information about the sponsor money collected.
' : frequeNcy X |
|l Money (Ex) Frequency Mid-point “’ g\ld Fgél’“"
; 0<x<10 . 7 S 235 |
:. 1 L ———
| |
10 <x <20 J 4 _ 'S | _C-__-)C)_ |
| 20<x<30 6 % KoTo NN
| _ l=22 T PSP SR |
| 30 < x < 40 1 235 35
| e S 1
I 40 < x < 50 2 a5 A0 !
Total = 20 2 +0
Last year, the mean amount collected per swimmer was £14.85
The charity organiser says,
“This year's mean amount is more than £3 higher than last year's.”
Show your working to support this statement.
[5 marks]
X D= N . - : I §
A1 Y S o T —— )
6 X29=1D0
NV x235 =3Re,
2 x4 %0
2330
2I3p. = 2o = 5.5 wen
dalberenm betuioon tms Gear and (ASE GRod
£ 15 -5 - Eld .89 = ft=a.L9
12

\{eg [nﬁow: mg.n _*ot% \r%\%\ne(

| |||||l “l“ |||| }“l 1B/H/Nov21/8362/2
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Do not write

outside the
10 Conservatory box
Molly is building a conservatory.

10 (a) Here is a plan view of the conservatory.

34m

J X Not drawn
R accurately

45m

4m

The conservatory floor will be made of concrete.
The concrete floor will be 0.1 m deep.

What volume of concrete will Molly need for the floor?
State the units of your answer.

[6 marks]
Area = onea A+ ana B
A 2 (3.4+ &)X (4.5-3)
z(3*-4) x 1.5 = 5.55
B T X Y4 = 192
Total area = 12 + 599 =1%¥.55
volume = [F.53 x 0.\ = 1L#¥55m?>
Answer |+ 5% ]‘Y\§
Question 10 continues on the next page
Turﬁ over p

L

1B/HINov21/8362/2



PassFunctionalSkills.co.uk Pass Functional Skills

16
Do not write
' [ i outside the
10 (b) Molly has a scale drawing of the side elevation of the conservatory. box

The scale of the drawing is 3 : 50
The height of the conservatory on the scale drawing is 23.4 centimetres.

Is the actual height of the conservatory less than 4 metres?

You must show your working.

[3 marks]
Scake hcf(jnt = 93 .4(m
3 L BD
281 =3 ® S Bem

.8 286 ® 590

_S90em = BG4

D ____.________ﬂ_@_;.mg.__q.c;m;ne_ilc_‘j‘_n-’r IS _1ess o
T S ._______Ctm_-.(,s_ q(Yl) P

l || |‘|! “l‘!l"] || |l 1B/H/Nov21/8362/2
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10 (c) Molly wants to build a brick wall as part of the conservatory. box
It would take Molly 12 hours to build the wall by herself.
Molly pays 2 builders to work with her to build the wall.

Molly pays each builder £14.73 per hour.

How much will Molly pay each builder for their work?

Assume that Molly and the builders work at the same rate.
[3 marks]

4 nougs  uan S

buddes (moiy+ 1)

N
v
I
gy
"

Answer £ S ¥ .92

END OF QUESTIONS

17 IB/H/Nov21/8362/2
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